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Answer 5 out of 8 questions.
Missing data, if any, may be suitably assumed
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Differentiate between Micro-Economics and Macro-Economics in Detail with examples wherever
required

Explain 5 types of utilities with examples.

Explain Factors of Production in detail.

Explain Types of Price Elasticity of Demand.

Explain Types of Elasticity of Supply.

If 2000 units of X are demanded at a price of Rs 10/unit and 2500 units of it are demanded at a
price of Rs. 9/unit, determine E,,.

A firm XYZ supplied 2000 pens at a price of Rs 8/ per pen. What price increases to Rs 10 per pen,
the supply of XYZ increases to 2000 pens. Find the elasticity of supply of pens.

Explain the following terminologies

(i) Straight Line Method of Depreciation with help of an example.
(ii) Declining Balance Method with help of an example

(iii) Law of Demand and Law of Supply

(iv) Price Elasticity of Demand

Discuss which of Henry Fayol's 14 principles of administrative management are still relevant to
managers today. Do any of these principles seem outdated to you? If so, which ones? Why?

Distinguish between administration and management.

Explain how planning is a process by itself.

A person is planning for his retired life. He has 10 more years of service. He would like to deposit

20% of his salary, which is Rs 4,000, at the end of the first year, and thereafter he wishes to deposit

the amount with an annual increase of Rs 500 for the next 9 years with an interest rate of 15%.
Find the total amount at the end of the 10th year of the above series.
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An asset costs Rs 5000, initially. Its life is 5 years and the salvage value at the end of 5 years is Rs (10)

1000/-. Calculate the depreciation charges from year 1 to year 5 using straight line method.

8) Explain off the job training methods.
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